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Long answer questions:

Attempt any Two questions:
{l

Full Marks: 60
Pass Marks: 24
Time: 3 hours.

candidates are requirecl to give their qnswers in their own words cts for as practicabre.The figures in the margin indicate frtt ma.t r.
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(2x70=2O)

r' 
*ii::":::ll":o;'"to' 

e' sotgderecurence reration a, :3ao-1 - 3a,-z* an-: with initiar conditions
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'rrtaole exampie. FinrJ the maximai fiow from s to t from ,n" *,"":';ltwork

2. Find the value of x such that x : I
Chinese remainder theorem.

(mod 3), x = I (mod 4), >1 : I (mod 5) and,. = o f-"j1ill,r*
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Group B

Short answdr questions:

Attempt any Eight questions:
(8x5=40)

;/ 
Ptove that for every positive integer n > I, n2 * n is even integer using mathematicar induction. (5)5' All over smart people are stupid. children of stupid people are naughty. John is chdren of Jane.Jane is over smart' Represent these statements ir FopL and prove that John is naughty. (5)6. Which of the following are posets?
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Define reflexive crosure and symmetrii crosure. Find the remainder when 4i _x+ 3 is dividedby x + 2 using remainder theorem. 
(3 + 2)

Define Eurer path and Hamilton path. Give exampres of both Eurer and Ham,ton path. e+3)

Iilffll;tf:LH*:1,ffi# tbrmed from the disits 1,2,3,4 and 5 assuping that: (s)
b. Rcpetitions of digits are not allowed
what is minimum spanning tree? Explain Kruskal's argorithm for finding minimum spanning tree.
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applicatio,s of graph coloring theorem. prove that ,.A tree wirh , ""n,..:';#j],
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tunction' whv do we need Incrusion - Excrusion principre? Make it clear
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